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[= 380,875 380,875 0
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HIISXH2lAE 2 Hx 2e 4,516,315 4,071,315 445,000
HIISXMalAE 2eed 4,453,852 4,008,852 445,000
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05 QIZtR EL 2 4,250,000 3,800,000 450,000
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307 Q12+0| & 1,064,072 1,090,306 N26,234
05 DIt Er2 1,064,072 1,090,306 NA26,234




SN

M HE XS 2 A2
& EH =2 CEE-ED
= HH -G () - HEMY - BdS Off &F o4 I E M Husz
OJI==2=33XMalAE s 222l
Z & 531,003,000 531,003 516,256 14,747
O 2LadelAld 22t & 2]
Z & 100,000,000& 100,000 127,750 A27,750
O =25 NESAIE QI2telE 222l
2 & 424,769,000 424,769 438,000 ~ 13,231
401 NI EBIZ 2 CHYI 43,401 59,030 A 15,629
01 A& HI 43,401 59,030 15,629
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O sZEHHIE+H 244 K& 1,130,340& 1,131 0 1,131
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M A2l
H: HWREs(sZF2all)
ol BEXE (chel & 9l)
A S (SH) - NRAY - BAS 01 &t o4 313 o HDE2
O sdoEMaXNE AMZ 7,342,610 7,343 7,343
488 488

off Oil 2 AHH

S=l

487,680




